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(v) I &I 6 G 10 T TY-IR qI7 J97 &, T9%F Jo7 F 2 3% & |

(i) YT GEIr11 @17 % -3/ —1 a1 J97 8, I9H J97 3 3FH 3 /
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(ix) I¥1 & I Glerg 3k arnfefa & |

General Instructions :

(i)
(i)
(iii)
(iv)

(v)
(vi)

(vii)

(viii)
(ix)

All questions are compulsory.

There are 24 questions in all.
Marks for each question are indicated against it.

Questions No. 1 to 5 are Very Short Answer type questions, carrying

1 mark each.
Questions No. 6 to 10 are Short Answer type questions, carrying 2 marks each.

Questions No. 11 to 17 are Long Answer — I type questions, carrying 3 marks

each.

Questions No. 18 to 21 are Long Answer — Il type questions, carrying 4 marks

each.
Questions No. 22 to 24 are Essay type questions, carrying 6 marks each.

Answers should be brief and to the point.
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1. faftm qoem 3 omg.eme. &, fioeht 8 et fogm # o1t Eraehik 3umy g '
H 7 | I Th HYH ATMIH fo=r dr=n 8 o a9 o gor, 9 3T5H
qen wrelt foeere i gifeaa o % fore smffa e S werar ot | fo=m =7
o for fafirer ioHTeral sl adia W@ 93 @ g fean S arfes Yoa & ganfiee

(FTf) AT A A AU GHG o FATIAR HISH BT W ¢ Toh |

STk A AU o fohedl qf adi hl gt ST | 1
Vipin Taneja has completed his Masters degree in Computer Science
from IIT, Delhi. He thought of an attractive economic idea which could be
implemented to create a business, earn profits and ensure further
growth. The idea was to link the different restaurants with the Indian
railway network so that while travelling, the railway passengers can
order food as per their liking.

List any two elements of the concept discussed above.

2.  TI I(SAT A U a8 H YIfhEd™ qT JABMEAH H T IS 1 foedr
BT h M 1 W 7 | 38 ot Ueed Afsd W AR T Tl @
TS ITdeh hTehl ohl S H TEHT ITEY I9eh! TUMAT hIfT | 1
Air India is planning to expand its flights to Pakistan and Afghanistan

over the next five years. Enumerate any two political factors that it
should consider as per the ‘PESTEL Model’ for the same.

3. ‘o qen ‘feht Hifud sl § ‘e i 31fienan 'Ar % MU’ W 3T
Wy Hifeu | 1

Distinguish between ‘Partnership’ and ‘Private Limited Company’ on the
basis of ‘maximum number of members’.

4. ‘g8 vH yhEn 3 e v Iwrht foem o arffsaes qe9 & g |
giEfda fomam STar 2 | 38 e foeeiworenss Taed g 3 31T Wal %
oo dur forw Sa 8, foom wrifaa 1 faemma foman St 8, o o1 @me
forer ST 8 9 Tt st wrHifd S S ST B 1
Tfshat Y gg=M iU | 1

“It is a process which involves the translation of a useful idea into an
application which has commercial value. It takes persistent effort to work
out analytically the details of the enterprise or service, to develop
marketing strategies, to organise finances and strategize operations.”
Identify the process.

98 3 P.T.O.
Downl oaded From : http://cbseportal .conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

[ CBSE

Downl oaded From : http://cbseportal .com A
5. ‘@™ ! RATG i | ' 1

Define ‘business’.

6. THATA S H AT THE. ¥ AR U Wb | qNES HieAtTen gliaqn Il
FI ] | 98 T BT FGHRE IE BT AT8dT AT W & Y I Il g8
%! Tepfd o IR H ol & & @1 @1 o1 | T T, w9, 39
TETS 9Teh H IR MU qen 3 9l O TR | 3UH @1 i 36k GIaTSl 3T
HOAT GaTEAT O YA I ¥ | 3EH A o gEl qig Sl wee 1 amAr ga
gt o e F | g o fo 3R e EE IR ) S e o
T *1 faem FE A G ad 9 soaiFe g e Se qon SE
o1 SATHAT o IIRETHED AN & HIATSA BIF & ST ST d1feh J6 o 394 o &
TTEL SU, 7 37h! AT T I9h IRER & He&l ol Udl I AT | 364 Dt
H T THY I Ht A ohl e TEE T Sl 36kl gal o o |9d i G
feems s ok |
ST 3T H ATl 3§ STTUNN <hl TEATHT qAT I8k 372 Tl Ieci@ hITIT
R =9 ) T9E1 & GH1UHE & fou = 6 9= 9 g8 2
Nayan has just passed his Senior Secondary Examination from a CBSE
affiliated school. He wanted to start his own business but was undecided
about the nature of the business to be started. One day, during the
morning walk, his grandfather fell down in the park and was injured. He
observed that his grandfather often forgot to take his medicines. He
thought that the same problem may be faced by other old people. He
thought to develop a walking stick for old people that could be fitted with
some electronic devices connected to the mobile phones of the members of
their families which could indicate the location of the old people when
they go outside their homes. He also thought to fit a timer in the stick
that could remind them about the time of taking their medicines.

Identify and state the meaning of the concept described in the above para
that helped Nayan in structuring his idea of solving the problem.

7.  SIEEIReh TidfareRn gra o i S areft Tl @ TR skl ST=ifiarsT ot
Iooig i | 2

State any two types of utilities created by business activities.

8. 3l faar e amel forar & &= 3w Ty S | 2
Distinguish between internal expansion and external expansion.
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9. HIUA 7 Th a9 AUEE IcUTET ShIS TEY hl | IAA IUE o AN (reia),
YT Bifle qem oiaferT % 9 4 Tl foen | Sueht fim w1 4 358 @t T
1 38 I9h aitfa Fofe o gwa 38 3 & 7 scaeel (Fmfarstl) & d-
Y Y AIAT T ThATS SR bl €99 | W@1 8§ o1 a1 2
3G YR ! GgAMd g¢ IHH Y sy ek fawy 4 971 4 wiwa €
el 2

Komal has started a herbal toothpaste manufacturing unit. She has
decided about the logo, packaging format and labelling of the product.
Her friend Neha asked her whether she has taken care of the legally
recognised exclusive rights of other manufacturers in the industry before
taking the above stated decisions ?

Identify and give the meaning of the concept about which Neha asked
Komal.

10. ‘IY SARH A SHNE qamsAl 9= dTel Uh ke i gHH 3§ |
15.2.2016 <hl S=ft T8 earedi ol foaw f Jwr & 3 :

S gfa fae &1 afar

I8! 1 GE7 yﬁﬁg?:
15 370
20 430
45 500
25 1,000
95 1,200

gfd UTgeh o= TS carsa i fEd Uiy Y T HifSu | 2

‘Ayush Generic Medicines,” a chemist shop sells generic medicines. On
15.2.2016 medicines as per the details given below were sold :

No. of customers Per customer _gilled amount
15 370
20 430
45 500
25 1,000
9% 1,200

Calculate the average amount of medicines sold per customer.

98 5 P.T.O.
Downl oaded From : http://cbseportal .conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal . conl

11. SAd1 B8 TS’ 8qUag & fHehe TS TSN R & T WisHed § |

SHAT B8 [ATHes hi gdehl ¥ ffafad sffehs T 3T :

=l HI <kl Fih
JTCIRICTeh T
ST TGN
TN e
T AT

T W
JTCYhITAh aw

39 g1 § Frefaiad 1 oE i
(%) GHa HrA Gt
(@) g Hrifa T

‘Janata Foods Ltd.” is a restaurant situated on a national highway near

Hyderabad. The following figures have been extracted from the books of

Janata Foods Ltd. :

Stock of Raw Material
Short-Term Loans
Trade Creditors
Trade Debtors
Dividend Payable

Tax Payable

Short-Term Investments

3
1,50,000
1,83,000

96,000
2,25,000
1,50,000
1,32,000
2,28,000

T
1,50,000
1,83,000

96,000
2,25,000
1,50,000
1,32,000
2,28,000

From the above information, calculate the following :

(a)  Gross Working Capital

(b) Net Working Capital
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12. B9 9 SEFG H e el 3cal i T G T 9,00,000 TGS H oSt
H | 3T 9% dTfHh AN W W AL T2 &b & T 5,00,000 T 0T T |
31 W=, 2016 %! TATG §T I H IFh! ToBARI T 20,90,000 off T2 == T AIA
& A T 15,30,000 ot | 3T AIRHH T 11,000 GHM o TohTT T YA foham
AT 7Y HEATHIT hl AT T 25,000 Ia T A FRAT | X 30% 7 |
AT T I <hl 0T hifse | 3
Harsha started her herbal beauty products shop in Chandigarh with a
capital of ¥ 9,00,000. She took a loan of ¥ 5,00,000 from the State Bank
of India at 9% p.a. interest. During the year ended 315t March, 2016 her
sales were ¥ 20,90,000 and the cost of goods sold was < 15,30,000. She

paid monthly rent of the shop < 11,000 and a monthly salary of
T 25,000 to the employees. The tax rate is 30%.

Calculate the Return on Equity.

13. TEY 20 99 I Ueh AI5@E 8 | 3T Ush TeNfiieh IIReT0 TEAH & Slf bl hid
foRaT @ | 98 U IMYfieh SR, SR W ol SgUsed i § HRRd Ty
3 Targafost Wt €, § U 93 SR Y oSl H gH A FHET A R | AR
A9 U i, foem Todersa fesmsfm § fewem wt foren gam 2, & w ooff
1 GhT AW H & TR H ==l L o [ T | 37k 7 4 I8 gma fean
o we feiflga guar dum foran Su S w91 Sushm w3 | Ffgd af
TTEfeh oM@l Td AT<ieh awdi ok 3NT=Tieh ®9 § U4 B | 3HH T had
AT 3UshH shl HFITEIAT Ud SAagridl <l gHe § Tgrar fierft s1fug fomm
1 it wd fshamea & 7l § o aTefl 3TgeAl & U ey i w39

Toiehd i T oft gfgen firenft |
R 4 O T % Wy (98 staumen W= 36h Ae & [heal ©: fogal
1 eI HIT | 3

Mahesh is a young man of 20 years. He has completed a tailoring course
from an industrial training institute. He wants to start a big-size
tailoring shop in a modern locality where young men and women working
in various multinational companies live. He went to one of his friends
who had completed a diploma course in textile designing to discuss about
the opening of the tailoring shop. His friend advised him to prepare a
written document describing formally all the relevant external and
internal elements involved in starting a new venture. It will not only help
in understanding the feasibility and viability of the proposed venture but
also facilitate in assessing and making provisions for the bottlenecks in
the progress and implementation of the idea.

State any six points of importance of the concept discussed by Mahesh
with his friend.
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14. @ 99 g& MU J A9 Tg TR, ORTETEH § B¢ IH W HH 4T Sen aul
IIGd AEHHRM T A T ThAT | S HI I9AT 3Heh! ITT3HhIH
TTEeT o Wi H9H gaT UTgehi qel foRiveRt U8 ggi § S IR <Al AR STerE
fort TohT o 2T T 8 T o, o HET AT Bl TS | IAEHshIA shl Al
% RO 3! AT g T[T ¢ T | MU A9 Hia gelt a0 difa Jawaq
AT o RV 39 GU H § 3TEAY 7 | MU 5 g W IgHa T fob 59 ot
I8 AR B a1 8, ol IUhl HaHE AR ®Y W g B Il 8 | 3° IS
% FHIEH 7q 39 79 i Higd ol eE | Y& e 1 o foren, e
A & | IO TH.EL T g i g q1 98 HIHE o (IR 7q €9 He% w6
foTT QIR B | AT MU Bl 3Rl BH ohT TSRO U okl AR W fe3 |

(%) 3wk og=se A 3fita fhdl fim dimedt 1 sg@ hifse f5=a Mara o
=aar difed o1 |
(@) HIET 3 YT sl BH T JoIehLol U= T TUHS 41 T 2 3

Two years ago Gopal started manufacturing low fat, sugar-free ice-cream
on a small scale basis in his home town, Vishakhapatnam. After some
time his ice-cream became popular among health conscious young
customers and old persons specially those having diabetes or some heart
ailment. Because of the popularity of the ice-cream the demand has
increased manyfold. Gopal is unable to meet the same, because of his
limited managerial ability and limited capital. Gopal also felt that
whenever he fell sick his business was temporarily closed. To overcome
this problem he decided to admit in the business his friend Mohan who
has recently completed his MBA and is ready to invest money for the
expansion of the business. Mohan advised Gopal to get their firm
registered.

(a)  State three limitations indicated in the above para from which

Gopal’s business suffered.

(b)  Why did Mohan advise Gopal to get the firm registered ?

15. UH Tohral ©: eI sl AT SAEY AT Tohdl] SATG@TRH ITH & THR o =5 i
JuTferd hid & | 3

List any six factors that may affect the selection of a form of business
enterprise.
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16. “STed 1aT < IElY IeWAT hl TATYAT qAT HF-HHT I HAHATCHS HIIH! T
TaTiEd A & fore Fo Femt it ravaehar gt 8 17
STk afeRai o aftfa STaamen i Tga™ o UvETq $Heh oHi i THEST, | 3
“Establishment of short or long term objectives and incorporating
deadlines in quantifiable measures requires some rules.”

After identifying the concept described in the above lines explain its
rules.

17. TH SgUSE &R @1 FHH], Uehl fAfies 4 IR WRA™ a1 i 91 &
HEAT B TIed! YIaH a9l A JaTa Ifsharsti o TUeH & et &l
TTUq s o TIT T STfeesr Jee fopu | Wil seraf=n 4 e s
1 g H qAT T9 gL @H H A § sied 1 FoRr forn qen swe
Y Uehl e o |19 gu 31ge-d | o |

(%) 39 I § aftfa sTaumon 1 ug= e qen saeh 379 Taqsy |

(@) Uew fafiee gr1 v wmf=i % @y fhr IH 9 gaqg & &
EIehi i Tl SIS |

()  UH TRE T oI hI TgaE Wi HINT S AR HEaET STIEE o gl
THTS h! FHITSA AT =1 & | 3

Alpha Ltd., a multinational restaurant chain company, gives an exclusive
right to four Indian companies to set up the restaurants in metropolitan
cities in India in return for their payment of royalties and conformance to
standardized operating procedures. Indian companies decided to employ
local workers and to distribute left-over food amongst the needy as a
provision in the agreement with Alpha Ltd.

(a) Identify and give the meaning of the concept discussed in the
above para.

(b)  List the main ingredients of the agreement that Alpha Ltd. will
enter into with the Indian companies.

(c) Also, identify any one value which the Indian companies want to
communicate to the society through the agreement.

18. U Tl g1 Ygfd ggaH o aliehi 1 T § Ui Hifu | 4

Describe briefly the ways in which an entrepreneur spots trends.

19. UF fordl IR SRl ol gAemsT oy wier) grai Hl T et s |0 4

Explain any four factors that lead to effective employee relationships.
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20. HAA 7 W mHew fm am ® ww ey fRen | seR sifees w@nm o '
Tafi yer 1 79 U9 SUSOT N qAT UTEehl okl WRAHT o IUANT H TR
% foru wfsrfera ufsrerss frges fopw | ooy & 35@ wfa gver &0 S[ek @ atfe
e 9fEi o Tagaes @ et ot 5| i glawreti w1 Sw e ah |
9gd MY I M AR B ORI qAT IEH A WA H T A
fan | sue fau sua wifafs wfirerspt &t fgfs &t | 3em sifafee mefid oft
S s 3R Ukl ol AW eI ST Hek | € 9N H 98 IA<S1 A1 HHH
T | 3G9 YT o &l U 9 i T W o T don s aftss ARt &

T Tk AARSH Q1 50 99 9gd A BIE W AW TR | 384 ga1 Al
Td iRt sl 99 Bt g e fopt U wwTE iR | 9 o & foe o
3caTed fohaT | 9 35eh foTu Tgdd &1 U a1 Seie TN qEed o ud e
TAT BT FAS o G b T Tve qd Ufdfed 918 & &1 il g% & fog

U <A IRy T feR |

(%) wFA H JAMA & F=Ad FL FIEAE FaE 6 THR (foEan) @
IR T HHSTST |

(@) UH gl Q geai 1 gead ft hifve < e yeia s amar o | 4

Kamal started a gym named as ‘Strong Muscles Gym’. He installed large
number of machines and equipments of different types and appointed
trained trainers to help the customers in the use of machines. Initially he
kept a low fee per hour so that the boys and girls belonging to poor
families may also avail the facilities of the gym. Very soon his gym
became popular and he started operating in three shifts. For this, he
appointed additional trainers. He also installed extra machines so that
more customers could be enrolled. In two years, he started earning good
profits. He took a nearby building on rent and started a ‘Recreation and
Health Club’ for the senior citizens of the locality on very nominal
charges. He also encouraged young boys and girls to participate in the
cleanliness drive started by the Prime Minister. They agreed and started
giving one hour daily for the cleanliness of the nearby areas, before the
opening of the ‘Strong Muscles Gym’ and the ‘Recreation and Health
Club’.

(a)  Identify and explain the type of business expansion that took place
under the entrepreneurship of Kamal.

(b)  Also, identify any two values that Kamal tried to propagate.
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21, Tar 9 WA ANEIGER § .2, Th Uig AR SEnfehl @€ 89U H
2 | 98 U UHl WRE 3G 3618 YW T FTEdl & foEH UH @Rl 6
3IcqTed fopam STwm et ST SATEHIEEA hl Ham § g a9 {9 3TSehd
SO SN ° A foRan ST g | AT gRI ST Sl T STl b T8 a
ITYH & ToTEH STl Sifew o Y STl foehrd <l grareddr g | 98 oTuH
RS o T U8 @i 9 99 T 1 TEdl g S TR T G 3Teh!
giEeHT 1 o ISt & &9 1 fsft awar Ooft g R arfe a9 oad foemt o

i €9 ¢ Toh |

(%) iar i fad < 39 GId i T T @l 8 98 10 IR o g
g T L Toh |

(@) 3udh (F) ¥ gIT T G w1 A4 G qen 5@ wa e 9n
fosryansti w1 Ieet@ I | 4

Geeta has completed her B.Tech. in Chemical Engineering from a famous
Indian Institute of Technology. She wants to start a chemical production
unit wherein such chemicals will be produced which are used in
automobile colouring and are being imported from other countries now a
days. The technology to be used by Geeta is new and untried involving
high risk factors along with high growth potential. She wants to raise
funds for her project from such a source that provides private equity

capital as seed funding to early stage, to give shape to her ideas.
(a)  Suggest Geeta the source of finance from where she can fund her

project.

(b)  Give the meaning of the source suggested in (a) above and state

any four features of this source.

22, 39 3G I AT & IcTel ¥ fedr YoM w1 & T fouueesat 3caret
%l hIg AMH ¢d 7 | TR hl UgIH o U, $h (AT ThRI T AT SdTd
EU T < Qa1 Iae Y | 6

In order to distinguish their products from that of their competitors, the
marketers give some names to their products. After identifying the
concept, name and give two examples each of its different types.
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23.  Hfaar 37 Afima 1 off {5 7 af A o1y a6 F B T b A a4 g '
37l Pl qAT 1 TG P =D AR & Tohdl & | ST 3Hb O Th Bl
ITH I S 1 fo=R fRa | 3Ee g ot giafeaa feem i 3w sem & forw
10 — 15 ST SR TF & @@ 9T o o1 i Tawaehar grft | 36 3TW

T fas W 40% 1 A1 I Ted FAT |

(%) Y 3=og H URRAT Igd Hd Y ’geog H IfeaRgd Iafud
STIYRON I Tg=H I AT 38R 379 GIT |
(@) 3TE (F) ° YgAHI TS JTEURN & awal ol ft Iect@ HIT | 6

Kavita has observed that there can be a good market for hand-knitted
cotton and woollen trendy garments for small kids up to the age of three
years. She thought of starting a small enterprise for the same. She also
ensured that the enterprise will require 10 — 15 trained workers and an
investment of rupees two lakhs. This will give 40% annual return on
investment.

(a)  Quoting lines from the above para, identify and give the meaning
of the entrepreneurship concept being stated in the above para.

(b)  Also, state the elements of the concept identified in (a) above.

24, “gg yurelt v go ®9 ° focflg @al s A @ afie s s w5
g aa g 17

(%) 3T q hl TgAM hIFVC ql 36eh i TRl <l T 91T |
(@) 39dh (F) U 9g9H T a1 & =i TATfUd shi S Tl st i
TET 1 A FATS | WY 7, AR H 3k Aed o el AN g3
i off FHEmET | 6
“It is an organised mechanism meant for effective and smooth transfer of
financial resources from the investors to the entrepreneurs.”
(a)  Identify the mechanism and list its different types.

(b) Name the association of persons established under the mechanism
identified in (a) above. Also, explain any four points of its
importance to investors.
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